



                                                              




















































































                               










        R



                  A




















                  Q










        








     C





























                          


        




















              


 



 


       B





















          P















Compare Desargues’ Theorem to the Three-point Convergent or Compound Joint model, where the “inclined deck” tilts at a compound angle with respect to the actual deck. Producing any two lines, say, A’B’ and A’C’, creates a line PQ on the plane of ABC. Producing B’C’, or, in fact, any line not parallel to PQ on the plane of A’B’C’, will intercept line PQ produced.
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Model for Projecting a set 
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of points to any plane:
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              Line C’’P’, on the xy- plane, 
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A
defines the line of intercept
            angle on
              




between planes.


 xy- plane  P’




(Refer to notes for details)
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DESARGUES’ THEOREM


CONVERGENT or COMPOUND JOINTS


PROJECTION of  POINTS to any PLANE





Corresponding sides: A’B’ and AB


       B’C’ and BC


		       A’C’ and AC


are not parallel, hence planes A’B’C’ and ABC 


are not parallel. Points P, Q, and R are collinear,


and lie on the plane of ABC.
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